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Question 1

Question Type: MultipleChoice

Which two methods can a Citrix Architect use to create a Heat Orchestration template? (Choose two)

Options:

A- Direct Input

B- Configuration jobs

C- Citrix Web App Firewall Policies
D- File

E- Gateway Policies

Answer:

A D

Question 2

Question Type: MultipleChoice




A Citrix Architect can execute a configuration job using a DeployMasterConfiguration template on a Citrix ADC
deployed . (Choose the correct option to complete sentence.)

Options:

A- CPX; in high availability
B- SDX; in a highly availability pair
C- SDX; with less than 6 partitions

D- MPX; as back up cluster node

Answer:

C

Question 3

Question Type: MultipleChoice

Scenario: A Citrix Architect needs to design a new Citrix Gateway deployment. During the design discussions, the architect documents
the key requirements about when to provide VPN access for incoming connections to the Citrix Gateway virtual server. Click the Exhibit
button to view the requirements.



B Exhibit

Connections that should receive full & User should be a member of the "Executives”
VPN access group.
o Connections should be using the Citrix Gateway
Plugin.
* Connections can come from any IP address
source,

Which policy expression will meet these requirements?



A. HTTP.REQ.HEADER("User-Agent”).CONTAINS(“CitrixReciever"&&HTTP.REQ.USER.IS_LMEMBER_OF("Executives”)

B. CLIENT.IP.SRC.IN_SUBNET(192.168.1.0/24).NOT&&HTTP.REQ.HEADER(“User-Agent".CONTAINS(“CitrixReciever")&&HTTF

C. CLIENT.IP.SRC.IN_SUBNET(192.168.1.0/24).NOT&&HTTP.REQ.HEADER("User-
Agent”.CONTAINS("CitrixReciever”).NOT&&HTTP.REQ.USER.IS_MEMBER_OF("Executives”)

D. HTTP.REQ.USER.IS_MEMBER_OF(“Executives”)

E. !CLIENT.IP=SRC.IN_SUBNET(192.168.1.0/24)&&HTTP.REQ.USER.IS_MEMBER_OF("Executives”)

Options:
A- Option A

B- Option B
C- Option C



D- Option D
E- Option E

Answer:

A

Question 4

Question Type: MultipleChoice

Scenario: A Citrix Architect needs to design a new multi-datacenter Citrix ADC deployment. The customer wants Citrix ADC to provide
access to various backend resources by using Global Server Load Balancing (GSLB) in an Active-Active deployment. Click the Exhibit
button to view additional requirements identified by the architect.

*  Users should be directed to the nearest available datacenter based on their
geographic location when they initiate a connection 1o a backend resource.

& The network locations that are considered the dosest to each of the
datacenters will be predetermened a third-party vendor,

*  The NetScaler designated as the ADNS server should use the configured
proximity data to make load balancing decisions.

Which GSLB algorithm or method should the architect use for the deployment based on the stated requirements?



Options:

A- Dynamic round trip time (RTT)
B- Least response time

C- Least packets

D- Source IP hash

E- Static proximity

F- Least connections

Answer:

E

Question 5

Question Type: MultipleChoice

Scenario: A Citrix Architect and a team of Workspacelab members met to discuss requirements during the design discussion for a Citrix
ADC design project. Specifically, the existing Citrix ADC Configuration must be modified to meet the following authentication conditions:



* Provide users with domain drop-down page

* If the users select workspacelab.com. perform single factor authentication using LDAP

* |t the users select AAATM.COM, perform two factor authentication using LDAP and RADIUS
* |f the users select NSI-TEST. COM. perform SAML authentication using ADFS

What should the architect use to bind the AAA virtual server to the Citrix Gateway virtual server?

Options:

A- 302 based redirect
B- 401 based binding
C- Form based binding

D- Authentication Profile

Answer:

D

Question 6




Question Type: MultipleChoice

A Citrix Architect can execute a configuration job using a DeployMasterConfiguration template on a Citrix ADC deployed
(Choose the correct option to complete sentence:

Options:

A- MPX; In high availability
B- CPX: without partitions

C- CPX; In high availability

D- MPX; as a cluster Instance

E- SDX; with more than 6 partitions

Answer:

A
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